
Take the divergence of both sides of Faraday’s law: 

A.  0=0	
  	
  (is	
  this	
  interes.ng!!?)	
  

B.  A	
  complicated	
  par.al	
  differen.al	
  equa.on	
  (perhaps	
  a	
  wave	
  
equa.on	
  of	
  some	
  sort	
  ?!)	
  for	
  B	
  
	
  

C.  Gauss’	
  law!	
  	
  	
  
	
  

D.  ???	
  

∇×

E = − ∂


B
∂t

What	
  do	
  you	
  get?	
  	
  

7.56	
  



Take the divergence of both sides of Ampere’s law: 

A.  	
  	
  
	
  

B.  A	
  complicated	
  par.al	
  differen.al	
  of	
  B	
  
	
  

C.  	
  Always	
  0	
  
	
  

D.  ??	
  

� 

∇× B = µ0J

According	
  to	
  this,	
  the	
  divergence	
  of	
  J	
  =	
  

� 

−∂ρ /∂t

7.57	
  



A.  	
  	
  
	
  

B.  A	
  complicated	
  par.al	
  differen.al	
  of	
  B	
  
	
  

C.  	
  Always	
  0	
  
	
  

D.  ??	
  

According	
  to	
  the	
  principle	
  of	
  charge	
  
conserva.on,	
  the	
  divergence	
  of	
  J	
  =	
  

� 

−∂ρ /∂t

7.57	
  


